()
[ 1 (10%)
2 6 10 13 4 5 5 18 11 9
9 9 12 22 6 7 7 14 18 4
100 [
C )

30-40 7 7

40-50 25 32

50-60 32 64

60-70 20 84

70-80 11 95

80-90 3 98

90-100 2 100
1
2.
3.
4.
5.

A B P(A)=04 P(B)=05 [
1 (10%)
1.P(AnB) P(ANB)
2.P(AUB) P(AUB)
3.P(AUB)
4A B
160 [
1 (15%)
(E) ©)

(M)

26

62

1 (15%)



a > w DN e

6
2001 7

2001 8
®

F | 40 32
P(ENF) P(MnS) P(SIF) P(FIS)
6
1
[ ] (15%)
X
X
E(X) V(X
8

80%

14

1 (15%)



(

)

=

@

[EEN

(&)
RN OO W

0.15
0.45
0.25
0.1
0.05

0.15
0.60
0.85
0.95
1.00

1.00
0.85
0.40
0.15
0.05

2.a

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

0.15

0.25

.10

0.05

25 5

7.510

12.515 17.520 22.5 25

2.b.

0.8

0.7 |

0.6 -

0.5 -

0.4 -

0.40

0.15

05

1. i(35x7+45x25+-.-+95x2)=57
100

50 +

100><;—(7+25)

32

x10=55.625




25-7

2.0,-40+ x10=47.2
060, 5T+ 243) 1 e
20
Q,-Q,=183

3. Hlo [7/35 - 57| + 2545 - 57] + - + 295 - 57]=10.36
a, 1 [1(35-57)" + 25(45-57)" +--+ 205 - 57 |-173.74

1001

13.18
5 BI8_ 5231

57

1. A B P(ANB)=0 P(ANB)=P(A)=04

2.P(AUB)=P(A)+ P(B)=0.4+05=0.9
P(AUB)=P(B)=1- P(B)=1-0.5=0.5

3. DemoganLaw P(AUB)=P(AnB)=1-P(AnB)=1-0=1

4. P(AUB)=P(A)+P(B)=09%1

1.P(E ~F)=40/160=0.25 25%
P(M N S) =62/160=0.3875 38.75%
P(S|F) =32/ (40+ 32) = 0.444 44.4%
P(F|S)=32/(62+32)=0.34 34%

2.P(E) = (26+40) /160=0.4125 P(F) = (40+32)/160=0.45
P(E)P(F) = 0.4125x 0.45= 01856+ 0.25= P(E N F)

3. = P(M|E) =26/ (26 +40) = 0.394

4. = P(F|S)=0.34
5.P(M|S)=62/(62+32)=0.66 P(M|E)=0.394

P(M|S) > P(M|E)



1.X n=6 p=0.3 E(X)=1.8 V(X)=1.26
3x18+1x (6-18)=9.6( )
CoChx
T 20
6
3x18+1x(6-18)=9.6( )

2 X f(x)= x=01--,6 E(X)=1.8 V(X)=0.928

3. E(X) V(X)
X X (A=8)
O X P(X<x)>0.8
Excel P(X <9)=0.7166 P(X <10)=0.8159 x=10
10 80%

@ 8 P(X <7) =0.4530



